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LINEAR EQUATIONS IN ONE VARIABLE

1.Solve:21 — 3(a — 7) = a + 20

A5

13


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_L57xFLOYV6V4

Answer: D

° Watch Video Solution

y+2 y—3_1
4 3 2

2.Solve:

° Watch Video Solution



https://dl.doubtnut.com/l/_L57xFLOYV6V4
https://dl.doubtnut.com/l/_hW50oL4rKjwq

3.Solve: — = 7
T r —4

° Watch Video Solution

4, Solve:

a—+ 4 a—+1

° Watch Video Solution

2z + 1 3 — 2z r — 2

5. Solve : = )
olve 10 5 5 Hence,
1 1
find the value of y, if — + — = 3.
L Yy

° Watch Video Solution



https://dl.doubtnut.com/l/_ImjmkK5HdUMf
https://dl.doubtnut.com/l/_q44TpNGtqPId
https://dl.doubtnut.com/l/_mr7tYUzBZGEN

6. Find a number such that one - fifth of it is less

than its one - fourth by 3.

° Watch Video Solution

7. The difference of the squares of two
consecutive even natural numbers is 92. Taking x
as the smaller of the two numbers, form an
equation in x and hence find the larger of the

two.

° Watch Video Solution



https://dl.doubtnut.com/l/_m2orXBl0kt9r
https://dl.doubtnut.com/l/_1iukWAD3zWvC

8. A rectangle is 8cm long and 5cm wide. Its
perimeter is doubled when each of its sides is
increased by cm. Form an equation in  and find
the new length of the rectangle.

A. 13.5cm

B. 14.5cm

C.14.15em

D.12.5¢m

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_jEbHmP08K96F

9. A man is 24 years older than his son. In 2 years,
his age will be twice the age of his son. Find their

present ages.

° Watch Video Solution

10. One day a boy walked from his house to his
school at the speed of 4 km/hr and he reached
ten minutes late to the school. Next day, he ran

at the speed of 8 km/hr and was 5 minutes early


https://dl.doubtnut.com/l/_jEbHmP08K96F
https://dl.doubtnut.com/l/_5JjSzSWyLHFU
https://dl.doubtnut.com/l/_40vdahW5FJPO

to the school. Find the distance between his

house and school.

o Watch Video Solution

11. The consecutive even numbers are such that
half of the larger exceeds one - fourth of the

smaller by 5. Find the numbers.

° Watch Video Solution

12. A person is paid Rs 150 for each day he works

and is find Rs 30 for each day he remains absent.


https://dl.doubtnut.com/l/_40vdahW5FJPO
https://dl.doubtnut.com/l/_rFEvUd2S6sQr
https://dl.doubtnut.com/l/_aGphhgYT3Dn4

If in 40 days, he earned Rs 3,300, find for how

many days did he work?

° Watch Video Solution

Exercise 14 A

1. Solve the following equations :

20 =6 + 2z

° Watch Video Solution



https://dl.doubtnut.com/l/_aGphhgYT3Dn4
https://dl.doubtnut.com/l/_DPECr0PNfkIk

2. Solve the following equations :

154+ 2 =bdx + 3

° Watch Video Solution

3. Solve the following equations :

3 + 2
r—6 -7

° Watch Video Solution

4. Solve the following equations :

3a —4=2(4—a)


https://dl.doubtnut.com/l/_ORtPPfnleYzH
https://dl.doubtnut.com/l/_hfy5tl0LOBcp
https://dl.doubtnut.com/l/_fO6OwDihFtGR

° Watch Video Solution

5. Solve the following equations :
3(b—4) =2(4-0)
A5
B. 6
C.4

D.3

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_fO6OwDihFtGR
https://dl.doubtnut.com/l/_E1Vf3x2AJTIk

6. Solve the following equations :

T + 2 x+4

9 11

° Watch Video Solution

7.Solve the following equations :
r—8 z=—12
5 9

A3

B.7

C.8


https://dl.doubtnut.com/l/_E1Vf3x2AJTIk
https://dl.doubtnut.com/l/_vuWur9uNeNXb
https://dl.doubtnut.com/l/_LZI4UbMVGuKm

D.9

Answer: A

° Watch Video Solution

8. Solve the following equations :

5(8z + 3) = 9(4z + 7)

O Watch Video Solution

9. Solve the following equations :

3z +1) =12+ 4(z — 1)


https://dl.doubtnut.com/l/_LZI4UbMVGuKm
https://dl.doubtnut.com/l/_RJLXhY31lsBF
https://dl.doubtnut.com/l/_hNauaqGieYoa

° Watch Video Solution

10. Solve the following equations :

3 1 T

o Watch Video Solution

11. Solve the following equations :

3a_ ~_ 0 52
Ty T 5 %%

° Watch Video Solution



https://dl.doubtnut.com/l/_hNauaqGieYoa
https://dl.doubtnut.com/l/_xqWfwTBG15u5
https://dl.doubtnut.com/l/_K4wNMaFWIF2o
https://dl.doubtnut.com/l/_TJOxa0x5LmtR

12. Solve the following equations :

1 _4:13 2x

T
3 2 9 3

° Watch Video Solution

13. Solve the following equations :

4(y + 2) 5y

5 _7+1_3

° Watch Video Solution

14. Solve the following equations :

a-+95 a+1 a-+ 3

6 9 4

| &


https://dl.doubtnut.com/l/_TJOxa0x5LmtR
https://dl.doubtnut.com/l/_ZhTaWU9W5wTl
https://dl.doubtnut.com/l/_vOgx8lNwppHX

| W Watch Video Solution

15. Solve the following equations :
2z — 13 r—3 x—9

s} 11 s} 1

° Watch Video Solution

16. Solve the following equations :

6(6x —5) —5(7r —8) =12(4 —z) +1

° Watch Video Solution



https://dl.doubtnut.com/l/_vOgx8lNwppHX
https://dl.doubtnut.com/l/_KhIRW9pTjyYK
https://dl.doubtnut.com/l/_7wtEu8FNGI5F

17. Solve the following equations :

(z —5)(z+3)=(x—7)(x+4)

° Watch Video Solution

18. Solve the following equations :

(x—5)°—(x+2)°= —2

° Watch Video Solution

19. Solve the following equations :

(z—1)(x+6) —(z—2)(z—3) =3


https://dl.doubtnut.com/l/_kxsIihA5vTxg
https://dl.doubtnut.com/l/_Z2CA3pBF22jw
https://dl.doubtnut.com/l/_zH04woFMPxan

Answer: D

° Watch Video Solution

20. Solve the following equations :

3 T
x + 6 r+5

= 2

o Watch Video Solution



https://dl.doubtnut.com/l/_zH04woFMPxan
https://dl.doubtnut.com/l/_A8YeKBYqOLA4

21. Solve the following equations :

1 N 2 B 3
rz—1 r—2 1z —3

° Watch Video Solution

22. Solve the following equations :

rx—1 B r—3
Te —14 Tz — 26

° Watch Video Solution



https://dl.doubtnut.com/l/_A8YeKBYqOLA4
https://dl.doubtnut.com/l/_ptqN2yo8Ulrh
https://dl.doubtnut.com/l/_zolIMby7NnZm

23. Solve the following equations :

1 1 1 1
rz—1 T r+ 3 r+4

A 11
' 6

B 11
2

C 11
' 3

7
D.—1—
19
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_6Lo6X5khJmtT

2x r—1 Tr — 1 1
24.S | : - — 2_.
ove: 3 6 T 4 6

1
Hence, find the value of 'a, if - + bx = 8.

° Watch Video Solution

4 — 3x T —x 1
25. Solve : 4= — 0.
olve: —p—+ —5— * %3

Hence, find the value of 'p',if 3p — 22 + 1 = 0.

° Watch Video Solution

1.95
26. Solve : 0.25 + — = 0.9



https://dl.doubtnut.com/l/_WRb3Cf885NqV
https://dl.doubtnut.com/l/_DNG7WoEoJfgd
https://dl.doubtnut.com/l/_jYahyEoMCvMu
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27.Solve : bx — (4a:+ oz _4) = u

7 3

° Watch Video Solution

Exercise 14 B

1. Fifteen less than 4 times as a number is 9. Find

the number.

° Watch Video Solution



https://dl.doubtnut.com/l/_jYahyEoMCvMu
https://dl.doubtnut.com/l/_2LwvtlQBItNg
https://dl.doubtnut.com/l/_zaT479hzjGqD
https://dl.doubtnut.com/l/_WvttgAUnY2sd

2. If Megh'a age is increased by three times her

age, the result is 60 years. Find her age.

A. 15 years

B. 16 years

C. 25 years

D. 13 years

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_WvttgAUnY2sd

3.28 is 12 less than 4 times a number. Find the

number.

° Watch Video Solution

4, Five less than 3 times a number is —20. Find

the number.

° Watch Video Solution

5. Fifteen more than 3 times Neetu's age is the

same as 4 times her age. How old is she?


https://dl.doubtnut.com/l/_vymwZ1FX3Lga
https://dl.doubtnut.com/l/_btfUMxdYfarG
https://dl.doubtnut.com/l/_FCAhr2M6zeM3

0 Watch Video Solution

6. A number decreased by 30 is the same as 14

decreased by 3 times the number. Find the

number.

A 11

B. 18

C.21

D.9

Answer: A

f 1


https://dl.doubtnut.com/l/_FCAhr2M6zeM3
https://dl.doubtnut.com/l/_lf96jztxjwV1

| o Watch Video Solution

7. As salary is same as 4 times B's salary. If
together they earn Rs. 3,750 a month, find the

salary of each.

° Watch Video Solution

8. Separate 178 into two parts so that the first

part is 8 less than twice the second part.

° Watch Video Solution



https://dl.doubtnut.com/l/_lf96jztxjwV1
https://dl.doubtnut.com/l/_todWtg0L0OX6
https://dl.doubtnut.com/l/_GXzgOg4houjy
https://dl.doubtnut.com/l/_OOuRmXu1ztNd

9. Six more than one - fourth of a number is two -

fifth of the number. Find the number.

° Watch Video Solution

10. The length of a rectangle is twice its width. If

its perimeter is 54 cm, find its length.

° Watch Video Solution

11. A rectangle's length is 5 cm less than twice its

width. If the length is decreased by 5 cm and


https://dl.doubtnut.com/l/_OOuRmXu1ztNd
https://dl.doubtnut.com/l/_6mmJY00CEwPS
https://dl.doubtnut.com/l/_zVfLkXopAKns

width is increased by 2 cm, the perimeter of the
resulting rectangular will be 74 cm. Find the

length and the width of the original rectangle.

° Watch Video Solution

12. The sum of three consecutive odd numbers is

57. Find the numbers.

° Watch Video Solution

13. A man's age is three times that of his son and

in twelve years he will be twice as old as his son


https://dl.doubtnut.com/l/_zVfLkXopAKns
https://dl.doubtnut.com/l/_UNCbPc8c45PI
https://dl.doubtnut.com/l/_XciOwPPihNk0

would be. What are their present ages?

O Watch Video Solution

14. A man is 42 years old and his son is 12 years
old. In how many years will the age of the son be

half the age of the man at that time?

° Watch Video Solution

15. A man completed a trip of 136 km is 8 hours.

Some parts of the trip was covered at 15km/hr


https://dl.doubtnut.com/l/_XciOwPPihNk0
https://dl.doubtnut.com/l/_GZdqE7mKd1O3
https://dl.doubtnut.com/l/_pBJkgqfknten

and the remaining at 18km/hr. Find the part of

the trip covered at 18 km/hr.

o Watch Video Solution

16. The difference of two numbers is 3 and the
difference of their square is 69. Find the

numbers.

° Watch Video Solution

17. Two consecutive natural numbers are such

that one - fourth of the smaller exceeds one -


https://dl.doubtnut.com/l/_pBJkgqfknten
https://dl.doubtnut.com/l/_15FUH9FJMIks
https://dl.doubtnut.com/l/_KQ2BycUhD8ho

fifth of the greater by 1. Find the numbers.

0 Watch Video Solution

18. Three consecutive whole numbers are such

that if they be divided by 5, 3 and 4 respectively,

the sum of the quotients is 40. Find the numbers.

A. 53, 54 and 55

B. 37, 38 and 39

C.50, 51 and 52

D. 55, 56 and 57


https://dl.doubtnut.com/l/_KQ2BycUhD8ho
https://dl.doubtnut.com/l/_f8y59qzKr6BP

Answer: C

° Watch Video Solution

19. It the same number be added to the numbers
5, 11, 15 and 31, the resulting numbers are in
proportion. Find the number

a,b,cand d are in proportion = = — =

° Watch Video Solution



https://dl.doubtnut.com/l/_f8y59qzKr6BP
https://dl.doubtnut.com/l/_q1t8nW1DZkla

20. The present age of a man is twice that of his

son. Eight years hence, their ages will be in the

ratio 7: 4. Find their present ages.

A. 56 years and 58 years

B. 55 years and 24 years

C. 48 years and 34 years

D. 48 years and 24 years

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_HdXMXC0aRckI

Exercise 14 C

1. Solve :

1 B
3t YT

° Watch Video Solution

2.Solve:
2T 3z 7
3 8 12

° Watch Video Solution



https://dl.doubtnut.com/l/_rjS8h2FxdSAu
https://dl.doubtnut.com/l/_I0QgRFd5c8tf

3. Solve:

(z+2)(x+3)+(z—3)(z—2) —2z(x+1) =0

° Watch Video Solution



https://dl.doubtnut.com/l/_FhBaPFQE2nl1
https://dl.doubtnut.com/l/_D3TTQja03IWB

Answer: A

° Watch Video Solution

5.Solve :

13(x —4) —3(x—9) —5(z+4) =0

° Watch Video Solution

6. Solve :

L7 8x 17x 5%
T — — = —
3 6 8

° Watch Video Solution



https://dl.doubtnut.com/l/_D3TTQja03IWB
https://dl.doubtnut.com/l/_TMadbNi1QAon
https://dl.doubtnut.com/l/_EN5lUdeHRfy0

7.Solve :

3t -2 2w+3 2
4 3 3 °

° Watch Video Solution

8. Solve :

T + 2 11 — x 1 3z -4
6 3 4) 12
A. 19
B.11

C.17



https://dl.doubtnut.com/l/_EN5lUdeHRfy0
https://dl.doubtnut.com/l/_ct6HROAWBNCZ
https://dl.doubtnut.com/l/_KxkA3STgvzaA

D. 10

Answer: B

° Watch Video Solution

9. Solve: 35 15

° Watch Video Solution

T + 2 z+1 r—3

10. Solve: — =
0. Solve 3 : 1

° Watch Video Solution



https://dl.doubtnut.com/l/_KxkA3STgvzaA
https://dl.doubtnut.com/l/_UTT5diHHk6Th
https://dl.doubtnut.com/l/_iQbpVCL9e8DG

11. Solve :

3:1:—2+ 2x + 3 B
3 2 -

:c-|-7
§)

° Watch Video Solution

12. Solve :

rx —1 r — 2
T — =1

2 3

° Watch Video Solution



https://dl.doubtnut.com/l/_iQbpVCL9e8DG
https://dl.doubtnut.com/l/_KpXZkxNmbCl0
https://dl.doubtnut.com/l/_g4AfSEs2ykkN

13. Solve :

Oxr + 7 r — 2
5 —(w— - )—36

° Watch Video Solution

14. Solve :
6x + 1 | — T — 3

2 * 3

° Watch Video Solution

15. After 12 years, | shall be 3 times as old as | was

4 years age. Find my present age.


https://dl.doubtnut.com/l/_i6AKIXGg4WYf
https://dl.doubtnut.com/l/_wGPyMqqPLtQX
https://dl.doubtnut.com/l/_rq4Rzc0bGu4k

° Watch Video Solution

16. A man sold an article for Rs. 396 and gained

10 % on it. Find cost price of the article.

A. Rs 380

B. Rs 340

C.Rs 370

D. Rs 360

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_rq4Rzc0bGu4k
https://dl.doubtnut.com/l/_pgAdCFgbml5J

17. The sum of two numbers is 4500. If 10 % of
one number is 12.5% of the other, find the

numbers.

° Watch Video Solution

18. The sum of two numbers is 405 and their

ratio is 8: 7. Find the numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_pgAdCFgbml5J
https://dl.doubtnut.com/l/_mySdhi2V7Mrh
https://dl.doubtnut.com/l/_sES9daxYgRtD

19. The ages of A and B are in the ratio 7:5. Ten

years hence, the ratio of their ages will be 9:7.

Find their present ages.

A. 35 years and 29 years

B. 35 years and 25 years

C. 39 years and 15 years

D. 45 years and 25 years

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_LCpFYmbhZsuO
https://dl.doubtnut.com/l/_uG8U8ILkzOtv

20. Find a number whose double is 45 greater

than its half.

° Watch Video Solution

21. The difference between the squares of two

consecutive numbers is 31. Find the numbers.

° Watch Video Solution

22. Find a number such that when 5 is subtracted

from 5 times the number, the result is 4 more


https://dl.doubtnut.com/l/_uG8U8ILkzOtv
https://dl.doubtnut.com/l/_Oc1tP6Tejdxq
https://dl.doubtnut.com/l/_X3a0sq5faSRG

than twice the number.

° Watch Video Solution

23. The numerator of a fraction is 5 less than its
denominator. If 3 is added to the nhumerator and
denominator both, the fraction becomes 5 Find

the original fraction.

0 Watch Video Solution



https://dl.doubtnut.com/l/_X3a0sq5faSRG
https://dl.doubtnut.com/l/_DlTlzFzaqtLs

